Chapter 05

Discrete Random Variables

  


True / False Questions
1. For a discrete probability distribution, the value of p(x) for each value of x falls between -1 and 1. 
True    False

2. The time (in seconds) it takes for an athlete to run 50 meters is an example of a continuous random variable. 
True    False
3. In a binomial distribution the random variable X is continuous. 
True    False

4. The binomial experiment consists of n independent, identical trials, each of which results in either success or failure and is such that the probability of success on any trial is the same. 
True    False

Multiple Choice Questions
5. Which of the following is a valid probability value for a discrete random variable? 
A. 0.2
B. 1.01
C. -0.7
D. All of the above
6. Using the following probability distribution table of the random variable x, what is the probability of x = 3?
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A. 3/15
B. 5/15
C. 1/15
D. 2/15
7. The binomial distribution is characterized by situations that are analogous to 
A. Drawing balls from an urn.
B. Coin tossing.
C. Counting defects on an item.
D. Measuring the length of an item
8. If p = 0.1 and n = 5, then the corresponding binomial distribution is 
A. Right skewed
B. Left skewed
C. Symmetric
D. Bimodal
9. If n = 20 and p = 0.4, then the mean of the binomial distribution is 
A. 0.4
B. 4.8
C. 8
D. 12

10. If x is a binomial random variable, then the standard deviation of x is given by 
A. np
B. (npq)2
C. (npq
D. npq

11. One die is thrown. What is the expected value of the number of dots on the top face of the die? 
A. 1.0
B. 3.5
C. 4.0
D. 3.0
12. In the most recent election, 19% of all eligible college students voted. If a random sample of 20 students were surveyed, find the probability that none of the students voted. 
A. 0.0000
B. 0.0014
C. 0.0148
D. 0.499756
13. The probability that a given computer chip will fail is 0.02. Find the probability that of 5 delivered chips, exactly 2 will fail. 
A. 0.9039
B. 0.0922
C. 0.0038
D. 0.0000
14. A fair die is rolled 10 times. What is the probability that an odd number (1, 3, or 5) will occur less than 3 times? 
A. 0.0547
B. 0.1172
C. 0.1550
D. 0.7752
E. 0.845046. 
